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MRENARE, WRHEBT. . .
SKEFEE—TEE:

1. [@Edp
AT, BFBRIBT
RESRE

int n
(n

int[] = intInl:
dp[e] = 0;

int max = 0:
(int i =1; i <n; i) {
(Math.abs(nums[i] - nums[i - 1]) <= 1) {
dp[i] = dpli - 1] + 1;

(dp[i] > max) max = dpl[i];

2. FiFehii

BEREINR, BEEFATRFEREE

Main {
void main(String[] args) {
Scanner in = Scanner(System.in);

int n = in.nextInt(), q = in.nextInt();

String str = in.next();

int[]1[] ranges = intl[qll2]:
(int i =0; 1i<q; it+) {
ranges[i] [0] = in.nextInt() -
ranges[1][1] = in.nextInt() - 1;

}

System.out.println(solution(str, ranges));
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string solution{5tring str, in
int g = ranges. length;

int 1, r;
(int[] range : ranges) {
1 = range[0];
r = range[1];

String left = str.substring(0, 1);
String mid = str.substring(l, r + 1);
String right = str.substring(r + 1);

mid = change(mid);

str left + mid + right;

String change(String str) {
StringBuilder sb = StringBuilder();
{int i = 0; i < str.length(); i++) {
char ¢ = str.charAt(i);
sb.append(c + c);

sb.toString();
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import java.util.Scanner;

/**
* Description:
* date: 2023/03/08 4 9:25

* @author Quan
*/
public class Main {
public static void main(String[] args) {
Scanner in = new Scanner(System.in);

int vO = in.nextInt(), x = in.nextInt(), y = in.nextInt();

double ans = 2 * Math.sqrt(y / x) - (vO / x * 1.0);
System.out.printIn(ans);

}
}

//012
// 2.8284271247461903
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4. k% dp + 01 BE

IRFEEREET, An RSN, [iBRMERG, e
MEEE b, FraERiEES2E.

iR T —1NEs), LTAeERNE r—RaaaT, ALK
ARSI (el UERINTEE, XZSRAINRERHE
—RERHGIWLE) . NSRRI T 4SmR, AN Ha

R RREERNTIEE,
B2, NRFFEEHN TR, LRERRNSE FeEiiit
UL

IFEaRYE e, MHEESIBRNEEESMETRER, BB
Bz, {FeESHEtERANEZSEEMG?

AR

FoTERAFRINERInNz, SHARREROINE, LLIEFFIIHEE
ST An T EESa;. THREETERINE.
E=TaAn T EEHoh. FIRRETIALTUESRETENEE
.

1< n,z,a; <1000

1< h<1nd

0
F2ET 1/, BRIEAEMXER, EOBGRE=ZERT. . .
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import java.util.Scanner;

/**
* Description:
* date: 2023/03/07 4 10:09

* @author Quan
*/
public class Main {
public static void main(String[] args) {
Scanner in = new Scanner(System.in);

int n = in.nextInt(), x = in.nextInt();

int[] A = new int[n + 1];

int[] B = new int[n + 1];

for (inti=1;i <= n;i++) A[i] = in.nextInt();
for (inti = 1;i <= n; i++) B[i] = in.nextInt();

long[][]{] dp = new long[n + 1][x + 1][3];
// dp[i][jl[0] - A"3E

// dplil[jI[1] - IRIHSE

// dplil[jI[2] - 3L

for (inti=1;i<=n;i++){
for(intj=1;j <=x j++){
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/] SBEENSE, BI—MARRINSE
if(i>1&&j-Ali]/2>=A[i-1]){
//j- Al /2 >= Ali - 1]: FITH%EaemTa—
dplil[jl[2] = dpli - 11{j - Ali] / 2][1] + B;

// JFINE
if j >= Al {
/] BAARE, BARERERNFOFNPEFEHEA
dp[il[jlI[1] = Math.max(dp[i - 11[j - A[i]][0],
Math.max(dpli - 11[j - A[i]l[1], dpli - 11[j - A[i]l[2]) + BIi]
);

}

// LER1ESEBE, TENSRSES, CREANSRE
dp[il][0] = Math.max(dpli - 1][j][0], Math.max(dpli - 11G[1], dp[i - 1J1[2]);
dplil[jl[1] = Math.max(dpli - 1][1[1], dp[ilI(1]);
| dplil{jl[2] = Math.max(dp[i - 1][][2], dp[il[jl[2);
)

System.out.printin(max(dp[n][x][0], dp[n][x][1], dp[n][xI[2]));
}

private static long max(long a, long b, long ¢) {
return Math.max(a, Math.max(b, c));
}
}

/1 N
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